CAUTION: TRANSPORTING GAS CYLINDERS IN CARS, VANS OR OTHER CLOSED MOTOR VEHICLES IS DANGEROUS AND SHOULD BE AVOIDED. GAS CYLINDERS MUST NEVER BE MOVED IN CLOSED SPACES, INCLUDING BUT NOT LIMITED TO CAR TRUNKS, DUE TO THE HIGH RISK OF EXPLOSION OR FIRE.

4

INVOICE

CAUTION: LET NO OIL, GREASE, OR OIL BASED LUBRICANT OF ANY NATURE COME IN CONTACT WITH ANY PART OF THE OXYGEN CYLINDER, REGULATOR OR FITTINGS, AS THIS IS CONSIDERED DANGEROUS. ACETYLENE, PROPANE AND HYDROGEN ARE FLAMMABLE AND EXPLOSIVE GASES AND CONSIDERED DANGEROUS.

INDUSTRIAL & V	INDUSTRIAL & WELDING SUPPLIES To sign up co							
CORSICAN	IA WELDI	NG						
	2151 BUSIN CORSICANA PHONE: 903-872-742	ESS SH 31DEC A, TX 75109 3 FAX: 903-872	4990 - CUUNTY	INVOICE NO. 2141551	DATE	PAGE		
O	X 75110 MPL/STORE CUST			3 TX 75110		DATE		
	JWW 3	IOMERTIC: NO.	*	KT HOKET NO.		02/21		
PRODUCT OXYGEN 84CF ACETYLENE 75CF 7 MIL ELECTRICAL TAPE	1 0	YL 1 A	PART NO. X - 80 C - 75 89 - EV - 57	84 J 60 37	18,550	MOUNT 18.55 37.90 1.49		
Debil: 213-613-321 Desc: Drygen Cylinder, 1 PO#: NHP Invoice#: 2141551 'endor#: 187	Icetylene	Cy/inde	N					
PLEASE PAY BY INVOICE. STATEMENT W	ILL NOT BE MAII	DED.						
* NOTE: The Delivery Ticket No. is the number o	of your signed Delivery Ti ivery Ticket, you may cal	cket received with	a shipment of goods. If	you are unable to	o locate your			
UNLESS OTHERWISE STATED, THE CYLINDERS ON THIS TANCE OF THIS DELIVERY, THE CUSTOMER ASSUMES R ANY CYLINDER LOST OR DAMAGED.	DOCUMENT ARE THE F	ROPERTY OF VE	NDOR. BY ACCEP-	ΤΟΤΑΙ		57.94		
(THE ABOVE MATERIAL WILL REMAIN THE PROPERTY OF THE THIS TO CERTIFY THAT THE HERE-IN NAMED MATERIALS ARE LABELED AND ARE IN PROPER CONDITION FOR TRANSPORT DEPARTMENT OF TRANSPORTATION.	E PROPERLY CLASSIFIED, TATION ACCORDING TO T	DESCRIBED, PACK	KAGED, MARKED AND EGULATIONS OF THE	TERMS: NET 30 D/ INVOICES NOT PAI TERMS ARE SUBJE OF 1.5% PER MON	ID IN ACCORDANC CT TO A SERVICE O TH, 18% PER YEAR	CE WITH CHARGE		
(THE BUYER AGREES TO ACCEPT THE ABOVE PRODUCTS SU WE HEREBY STATE THAT THESE GOODS WERE PRODUCED AMENDED, AND OF THE REGULATIONS OF THE DEPARTMEN	IN COMPLIANCE WITH AL	L REQUIREMENTS	OF SEC. 6. 7 AND 12 OF	Side of this shif The fair labor :	PER. STANDARDS AC	T, AS		



300 W 3<sup>rd</sup> Ave, Suite 6 Corsicana, Texas 75110 e-mail: auditor@navarrocounty.org

Fax: (903) 654-3097

Natalie Robinson, First Assistant, Kaye Martin, Assistant Lisa Clay, Assistant Patty Wells, Assistant Jan Wise, Administrative Assistant

Phone: (903) 654-3095

## INTEROFFICE MEMO

The attached item is being returned for the following reasons:

- Item incurred before purchase order issued
- Purchase order number is inconsistent with invoice
- Amount billed does not match the purchase order
- Vendor on purchase order does not match invoice
- Insufficient documentation to process payment
- G Signature or date not present
- Budget Account Number (Line Item) is missing Acct #\_\_\_\_\_
- a Insufficient budget

Terri Gillen, County Auditor

- Payment Request inconsistent with County Policy
- Other

Please provide the additional documentation or explanation necessary to process this payment request. This notice must remain attached to the payment request.

Additional explanation:	70	#	Not	reque	step	
				0		
				-		

The Department Head or Elected or Appointed Official must sign this form confirming notification that the Navarro County Purchasing Policy was not followed on this purchase.

Signature Date

Revised 06/24/19

1		2		$s_{2}^{(1)}$					
•		Smith Ag So	ervi	ice	v.			In	voice
								Date	Invoice #
		Corsicana, Texas 75110			t < 1	- 6	HIVED	11/18/2021	7169
					[	DEC	0 2 2021	Louis de	
	Bill T	0							
	NAVAR	RO COUNTY PCT3			, / LJ2%	( inte	, ogni t , ogni t		
				[	P.O. No.		Terms		Project
Qua	antity	Description		U/M	Parts		Machine Work	LABOR	Amount
	6	9/16" x 1.5" Wheel Bolt		ea		3.40			20.40
		Sub Total of Invoice							20.40
				Į.					20.10
	Debit Desc: PO#: Invoic Vendo	2/3-6/3-32 Unit 330-W NA e#: 7/69 r#: 7481	L I K	H	330				
	Phone	• #	M			E	Balance D	ue	\$20.40
	9036417	/370	0			Т	otal		\$20.40



300 W 3<sup>rd</sup> Ave, Suite 4 Corsicana, Texas 75110 e-mail: auditor@navarrocounty.org

Terri Gillen, County Auditor

Phone: (903) 654-3095 Fax: (903) 654-3097

Natalie Robinson, First Assistant, Kaye Martin, Assistant Lisa Clay, Assistant Patty Wells, Assistant Jan Wise, Administrative Assistant

### INTEROFFICE MEMO

The attached item is being returned for the following reasons:

- Item incurred before purchase order issued
- Purchase order number is inconsistent with invoice
- Amount billed does not match the purchase order
- Vendor on purchase order does not match invoice
- Insufficient documentation to process payment
- □ Signature or date not present
- Budget Account Number (Line Item) is missing Acct #\_\_\_\_\_
- Insufficient budget
- Payment Request inconsistent with County Policy
- Other

Please provide the additional documentation or explanation necessary to process this payment request. This notice must remain attached to the payment request.

unchase made without Pl Additional explanation:

The Department Head or Elected or Appointed Official must sign this form confirming notification that the Navarro County Purchasing Policy was not followed on this purchase.

Date

Revised 06/24/19

Signature



DEC 2 2021

NAVARAU COUNTY

AUDITOR'S OFFICE

# INVOICE

# B.C. MATERIALS, LLC.

P.O. BOX 249 HEWITT, TX 76643

254-857-3200 FAX # 254-857-4370

CHARGE TO

NAVARRO COUNTY AUDITOR'S OFFIC 300 W 3RD AVE, SUITE 4 NVOICE NO 6200-099169DATE 11/19/21 PAGE 1

CORSICANA, TX 75110-

CORSICANA ASPHALT PL

 W/O 106	640 -	NAVAR	RO COUNTY	РСТ 3					****	
	TRUCH		DATE	PRODU	JCT	_		TONS/CY	PRICE	AMOUNT
PO NBR -	2021	D 000								
		-R-006								
5797570	Carlot Carro	318	11/15/21	SACB	D-MIX	64-22	REG	5.18	65.00	336.70
5797607	NC	335	11/16/21	SACB	D-MIX	64-22	REG	✓ 11.83	65.00	768.95
5797609	NC	318	11/16/21	SACB	D-MIX	64-22	REG	V22.63	65.00	1,470.95
5797612	NC	318	11/16/21	SACB	D-MIX	64-22	REG	V4.98	65.00	323.70
5797613	NC	315	11/16/21	SACB	D-MIX	64-22	REG	122.41	65.00	1,456.65
5797620	NC	316	11/16/21	SACB	D-MIX	64-22	REG	122.68	65.00	1,474.20
5797622	NC	315	11/16/21	SACB	D-MIX	64-22	REG	-22.11	65.00	1,437.15
5797631	NC	316	11/16/21	SACB	D-MIX	64-22	REG	√22.37	65.00	1,454.05
5797632	NC	315	11/16/21	SACB	D-MIX	64-22	REG	√22.04	65.00	1,432.60
5797659	NC	316	11/17/21	SACB	D-MIX	64-22	REG	122.16	65.00	1,440.40
5797671	NC	316	11/17/21	SACB	D-MIX	64-22	REG	V22.92	65.00	1,489.80
5797688	NC	316	11/17/21	SACB	D-MIX	64-22	REG	23.09	65.00	1,500.85
5797702	NC	316	11/17/21	SACB	D-MIX	64-22	REG	120.96	65.00	1,362.40
		TOT	TAL - SACB	D-MIX	64-22	REG		245.36		15,948.40 *

Cher Boro Bridge SE 2220 Retreat

	5
TAX	
GROSS	5

GROSS

15,948.40

.00

DEC 07 2021

Debit: 2/3-613-376 Desc: Chen Bridge, SE2220, City of Retreat PO#: N/A PO#: N/A Invoice#: 6200-099169 Vendor#:



300 W 3<sup>rd</sup> Ave, Suite 6 Corsicana, Texas 75110 e-mail: auditor@navarrocounty.org

Terri Gillen, County Auditor

Phone: (903) 654-3095 Fax: (903) 654-3097

Natalie Robinson, First Assistant, Kaye Martin, Assistant Lisa Clay, Assistant Patty Wells, Assistant Jan Wise, Administrative Assistant

#### INTEROFFICE MEMO

The attached item is being returned for the following reasons:

- Item incurred before purchase order issued
- Purchase order number is inconsistent with invoice
- Amount billed does not match the purchase order
- Vendor on purchase order does not match invoice
- Insufficient documentation to process payment
- Signature or date not present
- Budget Account Number (Line Item) is missing Acct #\_\_\_\_\_
- a Insufficient budget
- Payment Request inconsistent with County Policy
- Other

Please provide the additional documentation or explanation necessary to process this payment request. This notice must remain attached to the payment request.

Additional explanation: Big Creek	did	Not bid	FY2022	R&B.

The Department Head or Elected or Appointed Official must sign this form confirming notification that the Navarro County Purchasing Policy was not followed on this purchase.

Signature

12-8-21 Date

Revised 06/24/19

### INVOICE

# B.C. MATERIALS, LLC.

P.O. BOX 249 HEWITT, TX 76643 254-857-3200 FAX # 254-857-4370

DEC 0 8 2021

City of Retreat

RECEIVED

NAVARRO COUNTY

AUDITOR'S OFFICE COUNTY AUDITOR'S OFFIC 300 W 3RD AVE, SUITE 4

INVOICE NO. 6200-099443DATE 11/24/21 PAGE 1

CORSICANA, TX 75110-

CORSICANA ASPHALT PL

W/O 106 TICKET #	640 - NAVARE TRUCK #	O COUNTY I DATE	PCT 3 PRODU	JCT	-		TONS/CY	PRICE	AMOUNT
PO NBR -	2021-R-006								
5797919	NCCity315	11/22/21	SACB	D-MIX	64-22	REG	21.92	65.00	1,424.80
5797925	NC 01 315	11/22/21	SACB	D-MIX	64-22	REG	22.02	65.00	1,431.30
	NCRWT 315	11/22/21	SACB	D-MIX	64-22	REG	21.06	65.00	1,368.90
5797973	NCJE22315	11/23/21	SACB	D-MIX	64-22	REG	22.29	65.00	1,448.85
5797982	NC " " 315	11/23/21	SACB	D-MIX	64-22	REG	22.01	65.00	1,430.65
5797990	NC# #315	11/23/21	SACB	D-MIX	64-22	REG	21.05	65.00	1,368.25
5797998	NC 4 1315	11/23/21	SACB	D-MIX	64-22	REG	20.66	65.00	1,342.90
	TOT	AL - SACB	D-MIX	64-22	REG		151.01		9,815.65 *

GROSS

TAX

GROSS

9,815.65

.00 9,815.65

Debit: 213-613-376 Desc: Atra of Retreat, SE2220 PO#: Invoice#: (1200-09944 Vendor#: 104



300 W 3<sup>rd</sup> Ave, Suite 6 Corsicana, Texas 75110 e-mail: auditor@navarrocounty.org

Natalie Robinson, First Assistant, Kaye Martin, Assistant Lisa Clay, Assistant Patty Wells, Assistant Jan Wise, Administrative Assistant

Terri Gillen, County Auditor

Phone: (903) 654-3095 Fax: (903) 654-3097

#### INTEROFFICE MEMO

The attached item is being returned for the following reasons:

- Let Item incurred before purchase order issued
- Purchase order number is inconsistent with invoice
- Amount billed does not match the purchase order
- Vendor on purchase order does not match invoice
- Insufficient documentation to process payment
- Signature or date not present

Budget Account Number (Line Item) is missing – Acct #\_\_\_\_\_

- Insufficient budget
- Payment Request inconsistent with County Policy
- Other

Please provide the additional documentation or explanation necessary to process this payment request. This notice must remain attached to the payment request.

REB Bid TABS. FY2A22 Additional explanation: Not The Department Head or Elected or Appointed Official must sign this form confirming notification that the Navarro County Purchasing Policy was not followed on this purchase. 12-8-20 Signature Date

Revised 06/24/19